= 0" exp (—nz0) , the
n60—nzf, and the score




6.2.11 The parameter of the interest is changed to the volume 1 = y/* frop, 4,
likelihood function is also changed to =

length of a side . Then the
Ly(nls) = Lo(W’]s) = Lu(pls)

on when the volume parameter 7 = 112 s of the

interest and L; is the likelihood function of the length of a side parameter |,

The Ly (nls) is also a maximizer of Ly(n'/?|s). Tn other words
‘smooth parameter transformations. Hence thé
3 0

where L, is the likelihood functi




